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1. 8BE2 IR

pII2EHE A2AIEL 2 SEXNS0 2t HE
HE & EXNRIEES 28EX8s HEDCS
OIOICHA HE0| 90 S NERHAIE 15 (ZA)(28) AL420
OHOICHA HE0| S DETAEH(FA) A9290
DHOICHA SR S DETVE(HRA) 53840
OIOICHA HE01 90 A NEXAE 15(FA)A AL421
OFOICHA HE0]1 90 A NEXAE 15(F4)Ae AL426
OHOICHA HE0| 90 B XIS RHAIE {5 (ZANC-W s=o AN413
OFOICHA HE0]1 90 A NEXAIE 15(F41)CH == AL422
OIOICHA HE0/ 90 A NEXAE 15(34!)C3 AL424
OFOICHA HE0/ 90 A NEXAE 15(F2)C4 AL425
OIOICHA HE01 90 A NEXAE 15(3F4!)Ce AL427
OHOICHA HE0] 90 ZA UHEXAE 15(FA)S B7251
OHOICHA HE0! 90 ZA UEXAE 15 (FA)S-P B7252
BE9 =2 =AY, =Y, ZERYH, DY IELEFLY 2013.10.02
2|2t 2019.01.02 ~ 2019.04.01 Z=£)|24 B2 279
222 . 4. === Z==2J(210] Y2
a2 23| Al OFOICHA QI AN T A2 2 HETH AL 23] AL KEBGHLI=3H
KBZ2, KEBGILI2H, NHEXISH,
NESH, S, ASMEEE ASESHA,
EHOH I At AMAZZ, M2 EE, IISSE, QUBIALS 22| 3] A SHUEHE MHIA
SHLIZSEX, st2ZMEISY, st2EXEH,
SIRTAZR SHENESA
ExN2AS S50 22|+ £AUES F=AG= TAZHES(OLOICHA HE0| =AI2)0 80% 0lAtS S X5t
MNZo| =3 O, UHX = HASHS(OIOIGAZSHNAEAR)N =2 EXNELICH FARHEE §X HES = 28 AMatk0l
ee—- e 24 M2ts H| 26t CH2st M2 (EventDriven, XF2LHEZH)E &2, FIHXI22] S0 2HISI0| HE N0 22
HYE F=A6IH, HARBEE 22 A= EXNE E6F HE QI 0K £21S =RELICH
> MHAS S
(SHP|: LHOL2l BHORXL %)
HEHE =2 Moy =)=l 2=
KHat ZOH(A) 6,117 5,822 -4.83
SIS H(B) -100.00
HE0I90XH (AN (2=) =X AHE 1 (C=A-B) 6,117 5,822 -4.83
2o 2o =2 E (D) 5,798 5,585 -3.67
JIZEJt2 (E=C/Dx1000) 1,055.11 1,042.41 -1.20
Kot ZOH(A) 6,117 5,822 -4.83
SIS H(B) -100.00
HE0I90XH (AN (2=) =X AHE 9 (C=A-B) 6,117 5,822 -4.83
gtal 201=3 = 4(D) 5,798 5,585 -3.67
JIZ=Jt2 (E=C/Dx1000) 1,055.11 1,042.41 -1.20
ZZ(Class)g J|=01 &l &
HE0I90KH (Z=41A JIE A 976.57 961.70 -1.52
HE0I90XH (F=4A)Ae JIEIHA 986.09 971.94 -1.43
HE0I90XH (=41 CHT JI=0H=A 949.64 933.44 -1.71
HE0I90XH (Z=41)C3 J|=0HA 992.03 977.37 -1.48
HE0/90XH (=4!)C4 =0t 988.05 973.53 -1.47
HE0I90XH (Z=4!)Ce J|=0HA 983.92 969.49 -1.47
HE0I90KH (=4 C-W JI=0H=A 1,000.14 986.70 -1.34
HE0I90XH (=4S J|=0HA 995.70 983.71 -1.20
HE0I90XH (=41)S-P JI=0H=A 995.71 983.65 -1.21
Z)IEIZE0I2t EXAPDL HEENSAS US(HY), SS(EH)ole R L= SHS(MSSEE) 23 A0 HEC = JIHEC2
HEO =XIAtEME galleEl 201=R S542 LE JHAS YLICH
2. 2EZU L FUESHE
b 22F Y
HE £222 AZ22HA JIE -1.52%2 HlW X2 UHl 2.62%p &2 &==8 J|=Z5tUSLICH




> EXEE L 2E HE

32 KOSPI XI== & & iHl 2.49% Gt& &t 2, 140 67pt2 DtZotASLICH MSCIAE=XI== L S=AF BEHIS U0 Tt = U
SA HIS0l SAZH 2 EAM= EX2H oHOIJASLICH £8H A=0 THAIE U332 IHZMIJt EAE dot= JI20 835
28O 20198 R2& J)| MY otet ez 222 FII=3s —‘?—EUP Eli= Z0l SAl ot YEz A ZotASLICH

38 0= HYEHIM S (Fed)dt FOMCOUIA 23tX0l St I8 S0 Wet Sedstel SIIE AIDF LIEtS D, BIEX 28 S
SHCZ 2ZQ MH=AIt EEHH =20 W= 252 EJASLICHL JdelLt FOMC 88 A0l Ecitt OI= %DI—EE—?—E#D} H Xt

S22 KOSPI= ot&f Ot otAsLICH

32 0|= FOMCOIA RtAEA RIIE2 L 32| SZS So 2A5F A2 S0ICYD 0= LS LA QUM AE= 5512
AUE 2ZH JIH22 2A=201 04 QO HUELICH 52 22 P2 SUIt ASPMAEN L2 StADACHD T
CHEILICH MBIEQI 2ot AN IS SE5IH TAAFN REEHCZ X2E 2102 MUELICH A48T SKEH0IHA S Bt
CHIIYES X 2X2 XHE 4 UA2LL 0l FAAN ALY 22 A A 20 It S22 MeHY Ao2 ofaaL
Ct.
PI[2H(FH) 28 (291 : %)
=2 X2 3K EEISE] EEENE] 2 12042
HE0I90RH (F&)(28) -1.20 -1.62 -4.29 -5.33
(HIm X4 ChHl A1) (-2.30) (-2.10) (-5.39) (-6.64)
E=(Class)& 81 &
H=0I90KH (=41)A -1.52 -2.27 -5.23 -6.56
(HID X2 ChHl A2 (-2.62) (-2.75) (-6.33) (-7.87)
HE0I90KH (Z=4!)Ae -1.43 -2.09 -4.97 -6.22
(HID X2 ChHl & 3) (-2.53) (-2.57) (-6.07) (-7.53)
H=0I90XH (=41)C1 -1.71 -2.63 -5.76 -7.27
(HID X2 Yl & 3) (-2.81) (-3.11) (-6.86) (-8.58)
H=0I90XH (F=4!)C3 -1.48 -2.26 -2.26 -4.85
(HIR X% ChHl &3 (-2.58) (-3.33) (-3.33) (-0.58)
H=0I90XH (F4!)C4 -1.47 -2.16 -5.07 -6.36
(HIXI2= CHH| &) (-2.57) (-2.64) (-6.17) (-7.67)
H=0190XH (=4!)Ce -1.47 -2.15 -5.07 -6.35
(HID X2 ChHl A2 (-2.57) (-2.63) (-6.17) (-7.66)
HE0I90XH (F41)C-W -1.34 -1.91 -4.71 -5.87
(HIm X2 ChHl &2 (-2.44) (-2.39) (-5.81) (-7.18)
H=0[90KH (Z=41)S -1.20 -1.63 -4.29 -5.33
(HID X2 ChHl A3 (-2.30) (-2.11) (-5.39) (-6.64)
H=0I90KH (FA)S-P -1.21 -1.63 -4.30 -5.33
(HI X2 ChHl &2 (-2.31) (-2.11) (-5.40) (-6.64)
CDSC H2WE S§ 28
CDSCE&4+2E -1.47 -2.16 -5.07 -6.35
(HID X2 ChHl A3 (-2.57) (-2.64) (-6.17) (-7.65)
Bl Xl 2= (HI X0 3) 1.10 0.48 1.10 1.31

F)HIW X 2=(HXI0t3): KOSPI X 9% + OHZBP SEMAXI= 20T 1-2Y X 81% + [KIS SEIIXI2=(1-2Y) X 55% + KIS I XI4=(2-3Y) X 40% + CALL X 5%] X 10%

¥ 2 ENAE2 I duE LIEE & Oldiel 22dUE 26t X2 0t LI

= =214 z =2 24 Z 2 34 z 2 54
H=O0I90XH (FA)(2E) -5.33 0.29 2.24 5.28
(Bl X 4= thel &) (-6.64) (-3.53) (-3.79) (-6.76)
EZ(Class)g &
H=0I90XH (F=A)A —-6.56 -2.30 -1.71 -1.59
(HI Xl <= CHel &) (-7.87) (-6.12) (=7.74) (-13.63)
H=0I90XH (F=24)Ae -6.22 -1.60 -0.64 0.19
(HIXI<= Chel &) (-7.53) (-5.42) (-6.67) (-11.85)
H=0I90XH (F=4!)CH =7.27 -3.77 -3.93 -5.30
(Bl X4 Chel & 1t) (-8.58) (-7.59) (-9.96) (-17.34)
HSO0I90XH (F=41)C3 -4.85 -0.59 -0.07 -
(HIXI<= CHel &) (-0.58) (1.31) (-0.27) -
H=O0I90XH (Z=4!)C4 -6.36 -1.88 - -
(Bl K== Chel 4 0) (-7.67) (-5.70) - -
H=0I90XH (Z=4!)Ce -6.35 -1.85 -1.03 -0.46
(HI Xl <= ChHl &) (-7.66) (-5.67) (-7.06) (-12.50)




HE0I90XH (F41)C-W -5.87 -0.86 0.48 2.05
(HIXIz= CHH| A1) (-7.18) (-4.68) (-5.55) (-9.99)
HE0I90KH (F=41S -5.33 0.29 - -
(HIIXI== CHH| A1) (-6.64) (-8.53) - -

= 0I90KH (F4!)S-P -5.33 0.27 - -
(HIR X< CHHl & 24) (-6.64) (-3.55) - -

CoEE ==EE S s=9s
CDSCS&+2E -1.84 -1.84 -0.08 -4.52
(HI2 X2~ Yl & 3) (-7.65) (-5.47) (-0.25) (-14.80)
Bl W Xl == (#H X 0F3) 1.31 3.82 6.03 12.04

=)HI WX = (HXI0t3): KOSPI X 9% + 01 ZBP SEHAX

¥ 9 ENAEZ B JUE LEHE & 0l 28

SUE &6t A2 ot LICH

& 20 1-2Y X 81% + [KIS SEIIXI==(1-2Y) X 55% + KIS I XI(2-3Y) X 40% + CALL X 5%] X 10%

b =B E (EH9l: worel)
= S A S = etE ¢ ols
T A A ] os [=g=x] FIu | =9 | " oY [EEne gz | 1B ==E

&) -753 4 0 0 713 0 0 0 7 —11 -40
=9l 186 3 0 -6 -257 0 0 0 5 -3 =72
3. Kot &
> AL E (9l B0kl %)
%éze“ _ s _ It &t 5 o EUIEH:% = e X} A= o
= x4 A olg g=x | =Y | = & 03
KRW 5,164 346 0 0 0 0 790 -479 5,822
(1.00) (88.70) (5.94)]  (0.00) (0.00)]  (0.00)[ (0.00)[ (0.00) (13.58)] -(8.22)[ (100.00)
Bl 5,164 346 0 0 0 0 790 -479 5,822
*(10): FHHIS
& Dl | g |
AHUE F8HE FHHIE
7|5 -s2mm 7|5t -8.22
SHHERHE I 04 24 CHHEHEE 13.58
ESR 0 ESXA 0
2E4 ¢ 2SN 0
DHEME 10.12 OpASARZ 0
AEER T 1049 EEER 0
s 0 o2 0
XM : mm5.39 XA X . 5594
F=A& = I 7 37 =4 : _-—-- T
-20 0 20 40 80 100 -20 40 60 80 100
P =ZX&HIE (EHS1: 0Ll %)
%i:é‘ _ s _ It &S N EUIEH:§ = JlEt X} A o
TE =4 ! s SN U S &l o=
damna| 5164 346 0 0 56 0 0 52 203 5,822
S| (88 (5.94) (0) (0) (0.97) (0) (0) (0.89) (3.49) (100.00)
_ 358 0 0 0 0 0 0 0 0 358
WEZX&
(100.00) (0) (0) (0) (0) (0) (0) (0) (0) (100.00)
amqa | 4806 346 0 0 56 0 0 52 203 5,464
S| (87.96) (6.33) (0) (0) (1.03) (0) (0) (0.95) (3.72) (100.00)
P FAEY ENHHIS (91 : %)
=2 HEH =S = 25Y 5=
1 P ESPN; 26.75 6 o}t 5.44
2 ==3 19.51 7 S& Y 3.33
3 MBlA 9.13 8 24 3.05
4 2=l 6.48 9 A8 2.85
5 =g 6.11 10 J|El 17.35




> IIIE EXHIS (€2l %)
== =1 0= == =PI HE
1 CHatol= 100
26.75
0 25
P FAASYE EXHHIS : 0 =(Short) L X & (49 © %)
=2 EEE 0= =9 EEE 8IS
1 AMEIA A 45.86 3 ==&l 14.31
2 st 39.48 4 HIA&H 0.35
FARZS SXH|E : B (Short) ZX| 4
> EXUA &4 10535 (el : %)
23 2= EEE EETY e =g BIS
1 =4 RSN 18.70 6 =4 KB=2& 2.74
2 CH|AS REPOOH==(20190401) 8.30 7 =4 SK 2.69
3 =4 SHES3SAXN= 4.23 8 =4 SKol 0l 5 A 2.54
4 =4 NHNOIE HI QI E 3.72 9 =4 =1PN; 2.50
5 =4 SKE A3 2.96 10 HOIA S REPOOH==(20190401) 2.49
v 2N ERES Y
=4 (Sl ==, wiokel, %)
EEE EET: R HIE T ER] 3t EE HIZ
SEEX 24,161 1,088 18.7 CHstol= KRW WPIFSPN;
SHESSHXF 724 246 4.2 CHstol= KRW =2
NHNAEHIQIHE 2,536 217 3.7 CHstol= KRW AEIA A
SKE gl = 676 172 3.0 CHstol= KRW SHY
KB2& 3,624 159 2.7 Chstol= KRW =2
SK 579 157 2.7 CHstol= KRW =53
SKot0l = A 1,932 148 2.5 CHstol= KRW WPIFSPN;
S CH Xt 1,208 146 2.5 CHstol= KRW ==& H|
) EXNUA 42 1055 L HIISHO0| AASHO| 5%E Zltote R I L= LHFA S50 1% 20 S
> COIOE & o3 (91 3, B40HR, %)
z= EESIES EEE = =2 ooy 2=} =3
REPODRZ NHEX =2 2019-04-01 483 1.88 Heo= KRW
=) EXHA A9 1053 & ZIIS%0| AHAENO| 5%3 oot 22 JIM




4. ENREFI012 HE
> EXN2EEH(EHE0HLIN) (SH9]: JH, BHDIS)
° 2EF0 HE S AP L) Ues HE L Yo 2D I _
a8 A WOl e 2230 HE R4 22732 ESi=s =
gr X 5f » = 56 12 173,505 4 139,108 2109000201
2UKAf Es; 35 9 57,964 0 2115000373
20005 XA 38 0 31,535 0 2111000836
F) A0 22 SM2 EAIE 20| MUEXRK0I0|0, MUEXNSI0A 0 ENRB0I = SN 28 L EX AR
SOl U FTEHO|D HAFO A A= (2 Lt
% HEO EX2R2002 HAYLY S2 2SENES MANZAIAOIES 2AIBA ES D514 2 USLICH (QAEY =4
http://dis.kofia.or.kr) B, &38| MXZBAIAIOIED} MBets 29 2 NAREEDAMI MEBsls 29 XAIIFL0| A0l & &
SLICH
SEN2HE HIUNS
J EEREENE
2016.06.10 ~ & M 2 K&
2017.11.24 ~ &N ELPSES
2018.03.16 ~ &M 2014
2014.10.01 ~ 2018.03.15 d535
2012.05.01 ~ 2017.11.23 PESE
2012.10.09 ~ 2016.06.09 olZA
2015.06.01 ~ 2016.06.09 Had
P HAS2+E Al
BNE | AT | =0t | b2
ERNEEE
5. HIE &&
b AXE B X2 & (CHSY: BH0LRl %)
bSp) EE
?-_i_ s | | = F1 | I [} $1!
THAFS 2 AF 0 0.00 0 0.00
EHOR 5 AF 0 0.00 0 0.00
T C I A 23| AF(AEF X 0 0.00 0 0.00
I BFAF2 2] 3] AF 0 0.00 0 0.00
EEEE 0 0.00 0 0.00
HE0I90KH (FA) (28) IETERS 4 0.05 —1 —0.01
S0, S a2 15 0.18 10 0.17
OH OH TAEAS =
fﬂe P 34 0.41 15 0.26
EEl 48 0.59 25 0.43
EETISTEY 49 0.60 29 0.49
NEEYY 9 0.14 6 0.14
ZHOR 3 AF 12 0.18 8 0.18
TH C I AFS 25| AF(AIEF QI AT 0 0.01 0 0.00
oI BFAF2 22| 3] AF 0 0.01 0 0.00
EESER 21 0.33 14 0.32
HS50[90AH (FA)A IETERS 3 0.05 —1 —0.01
TR 12 0.18 7 0.17
il B V===
ffHE A A e na 27 0.42 11 0.26
T EEl 39 0.60 19 0.43
ESETSTEIY 40 0.61 21 0.49
NEET 0 0.14 0 0.14
EHOR 5 AF 0 0.09 0 0.09
T C I AFS 2 5| AF(AIEFDY A} 0 0.00 0 0.00
EENEEEE 0 0.00 0 0.00
EESER 0 0.24 0 0.23
1=0[902H (FA])Ae ETERS 0 0.07 0 ~0.02
CHE0HOH, S5 42 0 0.18 0 0.17
OH O TANERYS
fi]Ha Al ds 0 0.39 0 0.26
T EEl 0 057 0 0.43
PR 0 0.57 0 0.48




NEENN 0 0.14 0 0.13
EHOR 5 AF 0 0.38 0 0.37
T C I AFS 25| AF(AIEFDY A} 0 0.00 0 0.00
TEREERER 0 0.00 0 0.00
EEER 0 0.52 0 0.51
=01902H (FA)C1 JIEFHIE =2 0 0.07 0 —0.02
oy LS00 SoiE4E 0 0.18 0 0.17
H Of TAEHgS =
=0\ QA ~nm 0 0.39 0 0.26
St Al 0 0.57 0 0.43
=2 AHAl 0 0.58 0 0.49
EEE 0 0.10 0 0.11
ZHOR 3J AF 0 0.15 0 0.17
B C AP 25| AF(AIEF I X} 0 0.00 0 0.00
EEERER 0 0.00 0 0.00
EESTR 0 0.25 0 0.28
H=0[902H1 (FA)C3 JIEHHI & *? 0 0.18 0 -0.01
P =R ] 0 0.15 0 0.17
INEHYSD S
=\ QA ~na 0 0.25 0 0.26
= — =
SHAl 0 0.40 0 0.43
=2 Al 0 0.43 0 0.50
R 0 0.14 2 0.14
EHOR 5 AF 0 0.13 2 0.12
T C I AFS 2 5] AF(AIEFQY A} 0 0.01 0 0.00
oI BFAL 2 22 3] AF 0 0.01 0 0.00
EESE 4 0.27 4 0.27
H=0[90A11 (FA)C4 IETERS 1 0.07 0 ~0.01
op LSO EohESE 3 0.18 2 0.17
W EAERge =
=\ AHIA na 6 0.39 3 0.26
St Al 8 0.57 6 0.43
=2 Al 8 0.58 7 0.49
EEE 0 0.14 0 0.14
EHOR 5 AF 0 0.12 0 0.12
T C AP 23| AF(AIEF I X} 0 0.01 0 0.00
TEREERER 0 0.01 0 0.00
EESEE 0 0.27 0 0.27
501902+ (F4))Ce IR 0 0.07 0 ~0.01
CH=0H0l, EhE42 0 0.18 0 0.17
9553 EANZHBE S 0 0.39 0 0.26
e MHIA 42 ' :
T Bl 1 0.57 0 0.43
=2 Al 1 0.58 1 0.49
REET 0 0.14 0 0.13
EHOR 3 AF 0 0.00 0 0.00
TH C I AFS 25| AF(AIEF QI AT 0 0.00 0 0.00
ENEERER 0 0.00 0 0.00
EESE 0 0.14 0 0.14
750|902t (FA) C-W JIEFHIE * 0 0.07 0 ~0.01
TR =) 0 0.18 0 0.17
T aERee =
=\ AU~ ~ia 0 0.39 0 0.26
O =
S| 0 0.57 0 0.43
= Al 0 0.57 0 0.49
NEENN 0 0.00 0 0.00
EEIR 0 0.00 0 0.00
T C I AFE 2 5| AF(AIEF DY X} 0 0.00 0 0.00
INEREEER 0 0.00 0 0.00
EESER 0 0.00 0 0.00
=0[902H1 (FA)S JIEHHI & 0 0.07 0 —0.02
S TR 0 0.18 0 0.17
HOf TASMS =
=\ WA e 0 0.39 0 0.27
r22 =
St il 0 0.57 0 0.44
=2 Al 0 0.57 0 0.54




RN 0 0.00 0 0.00
ENEN 0 0.00 0 0.00
EERNEEEINRNEERD) 0 0.00 0 0.00
UBHALR 22| 5] AL 0 0.00 0 0.00
S5 0 0.00 0 0.00
H=0[902H (FA)S-P JIEHH| & *? 0 0.07 0 -0.04
O oK CHe=0H0H, EMS42 0 0.18 0 0.13
=H EANEHBE S 0 0.39 0 0.21
;la M2 248 ) )
81| 0 0.57 0 0.34
= Al 0 0.57 0 0.39
* HEO| &=XIAFEM(D|2HE A (Y| HI22 LIEFHLICEH
wx J|EIHIZ0I2 SIH2AAMEIE, S2 SO (e L ZHHIE S HEWA ZAN BIE2NO2 XEE HEO2H -S4 2= F
Q&34 I LICtH
¥ AU e ele
LU g el
b S, H|SHI= (St A EBHAF %)
22 | E25-HI2HISA) *' [ -EHS2=ZHIS(B) * 8t (A+B)
x| 0.0411 1.5031 1.5442
= AN (2=
A= 0190 (F4)(28) EPl 0.0385 1.8556 1.8941
o x| 1.3506 1.5173 2.8679
=090 (F=4)A EPl 1.3483 1.8689 3.2172
x| 1.0189 1.5334 2.5523
=2 = Al
A= 0190XH (F40)Ae EPl 1.0045 1.8511 2.8556
x| 2.1284 1.5373 3.6657
=2 = Al
1= 0190 (4)C1 EPl 2.1167 1.8496 3.9663
x| 1.3857 0.7946 2.1803
=2 = Al
1= 019011 (54)C3 EPl 1.3874 2.0806 3.468
x| 1.1517 1.471 2.6227
=2 = Al
1= 01901 (541)C4 EPl 1.1465 1.8461 2.9926
x| 1.1228 1.3238 2.4466
=2 = Al
1= 01901 (541)Ce EPl 1.1285 1.8589 2.9874
x| 0.6411 1.524 2.1651
= ESUNATo I
1= 0190XH (F4)C-W EPl 0.6301 1.8467 2.4768
x| 0.0666 1.5369 1.6035
=2 = Al
A= 0190XH (403 )| 0.0316 1.8437 1.8753
x| 0.0666 1.5369 1.6035
= X Al —
A= 01901 (54)S-P EPl 0.0173 1.7336 1.7509
Z1) £92-H|2H|2(Total Expense Ratio)0|2t L8284 S HE WA SEots '24'2 'JIEIHE' SHS XA HT R (P2
2 U2 IE)CZ L= HIBZM 1Y 28JI12t & EXNXIL 228 & B2 HI 222 UEHHLICH
Z=2) DHOH-EH=242 HISOI2 HOH- M2 E A4 AEIMH(B2 HIE AW JIFE)CZ L= HISZM 1Y 28212 F &
KXOF S8 OHOH-Sh 280 £FS LIEFLICH
6. EXHAHAHDH OH LH &
> OHOHF=AAE X JEE (CHl: BHOLRL %)
TES S MMEEER
2t =2 2t = oH EPIF EEIS
911,957 32,271 826,143 30,943 151.97 616.32
=) HOHBI M S0/2 G S22 S S8 ZAIDIMO| ZEHS 1) gL @IS BS8F ZAI0 BRIIMOZ Lis U292 LICH
HOHEI XM 80| =222 MHOHHHS22(0.1% LHRI) L SZHAM(IHE Al 0.3%) LAMO2 AH EXXIF SEGH &= ®EH 0|
ZJh&HLICY.
> 2327 F4 KSR E FOl (E491: %)
2018-07-02 ~ 2018-10-01 2018-10-02 ~ 2019-01-01 2019-01-02 ~ 2019-04-01
160.64 191.09 151.97
S A
0l BEDM= XH=2AIZHH 26 OIOICIA HE0] 90 SA NEXAE 1S (FAN2E) NHASESIAFS OOICHA A A2 E0| =
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